Math 1300
Homework 18
Section 4.3

4.3.12 Give one factor only.
Not factorable.

(x+7)

((x +14)

(x+9)

None of the above.

PoooToRE

4.3.14 Give one factor only.
Not factorable.

(x-1)

(x+3)

(x+2)

None of the above.

PO TN

4.3.16 Give one factor only.
Not factorable.

(x—15)

(x-5)

(x +3)

None of the above.

P20 T oW

4.3.20 Give one factor only.
Not factorable.

(x +4)

(x—18)

(x-3)

None of the above.

LS U

4.3.24 Give one factor only.
Not factorable.

(x+9)

(x+3)

(x +27)

None of the above.

LSS

4.3.34

Not factorable.

(4x +9)(4x-9)
(x+9)(x—-9)
(2x-9)(8x +9)
None of the above.

PO TP Oo
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4.3.40 Give one factor only.
Not factorable.

(5x + 3)

(x +3)

(5x + 6)

None of the above.

LIS S

4.3.36 Give one factor only.
Not factorable.

(3x +5)

(x +5)

(3x + 3)

None of the above.

T TP o

4.3.44

Not factorable.
Bx+ 7)(x—4)
@x-7)(4x +1)
@Ux-21)(2x+7)
None of the above.

LS N

10. 4.3.52

Not factorable.
3x(x + 5)(x — 5)
3x(x + 25)

25x(x — 3)

None of the above.

PO T
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